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public class MySetl {
public static void main(String[] args) {

/1 BIEREE AR
Set<String> set = new TreeSet<>();
/ /TR
set.add("ccc");
set.add("aaa");
set.add("aaa");
set.add("bbb");

// for (int i = @; i < set.size(); i++) {
// //SetEERRBRGIN, FLARREERBIE RS BRBUTRNTE
// ¥

/1 BREE

Iterator<String> it = set.iterator();
while (it.hasNext()){
String s = it.next();
System.out.println(s);
¥

System.out.println("--------------------------- - "

for (String s : set) {
System.out.println(s);
}
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2.2TreeSetSEREAN(EA [MFA]
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public class TreeSetDemo@l {
public static void main(String[] args) {
/1 BIEERERIR
TreeSet<Integer> ts = new TreeSet<Integer>();

/ /TR

ts.add(10);
ts.add(40);
ts.add(30);
ts.add(50);
ts.add(20);

ts.add(30);

/ 1BRES

for(Integer i : ts) {
System.out.println(i);

}
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public class Student implements Comparable<Student>{
private String name;
private int age;

public Student() {
¥
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public Student(String name, int age) {
this.name = name;
this.age = age;

public String getName() {
return name;

public void setName(String name) {
this.name = name;

public int getAge() {
return age;

public void setAge(int age) {
this.age = age;

@Override
public String toString() {
return "Student{" +

"name="" + name + '\'' +
", age=" + age +
s

@Override

public int compareTo(Student o) {
/ HRRI SR FURH THEF
/| EEHIMRERM: IR NEIKHERE
int result = this.age - o.age;
[ IREFISRM: FRERER, RSN EIRFRE
result = result == 0 ? this.name.compareTo(o.getName()) : result;
return result;

public class MyTreeSet2 {

public static void main(String[] args) {
/1 BIEEER
TreeSet<Student> ts = new TreeSet<>();
/ 1 BBEFAENISR
Student sl1 = new Student("zhangsan",28);
Student s2 = new Student("lisi",27);
Student s3 = new Student("wangwu",29);
Student s4 = new Student("zhaoliu",28);
Student s5 = new Student("gqiangi",390);

/ 1BFERINEIES



ts.add(sl1);
ts.add(s2);
ts.add(s3);
ts.add(s4);
ts.add(s5);
/1 Bh%EE
for (Student student : ts) {
System.out.println(student);

}
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public class Teacher {
private String name;
private int age;

public Teacher() {
¥

public Teacher(String name, int age) {
this.name = name;
this.age = age;

}

public String getName() {
return name;

}

public void setName(String name) {
this.name = name;

}

public int getAge() {
return age;

}

public void setAge(int age) {

this.age = age;
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@Override
public String toString() {
return "Teacher{" +
"name="" + name + '\'' +

, age=" + age +

"}

public class MyTreeSetd {
public static void main(String[] args) {
/1 BIEEEXIR

TreeSet<Teacher> ts = new TreeSet<>(new Comparator<Teacher>() {

@Override

public int compare(Teacher ol, Teacher 02) {
/1 IR EF NI TR
//02RNEEFANRIEESFHITER

/1 EEEMH
int result = ol.getAge() - 02.getAge();

/1 IRBF

result = result == © ? ol.getName().compareTo(o2.getName()) :

return result;

s

4z == IDSES

Teacher tl = new Teacher("zhangsan",23);

Teacher t2 = new Teacher("lisi",22);

Teacher t3 = new Teacher("wangwu",24);

Teacher t4 = new Teacher("zhaoliu",24);

/ BN INEIES

ts.add(tl);

ts.add(t2);

ts.add(t3);

ts.add(t4);

/1 BA%EE

for (Teacher teacher : ts) {
System.out.println(teacher);
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public class Student implements Comparable<Student> {
private String name;
private int chinese;
private int math;
private int english;

public Student() {
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public Student(String name, int chinese, int math, int english) {
this.name = name;
this.chinese = chinese;
this.math = math;
this.english = english;

public String getName() {
return name;

public void setName(String name) {
this.name = name;

public int getChinese() {
return chinese;

public void setChinese(int chinese) {
this.chinese = chinese;

public int getMath() {
return math;

public void setMath(int math) {
this.math = math;

public int getEnglish() {
return english;

public void setEnglish(int english) {
this.english = english;

public int getSum() {
return this.chinese + this.math + this.english;

@Override
public int compareTo(Student o) {
/] EEEM: RBEOHTHR
int result = o.getSum() - this.getSum();
/] IREFM: REBD—F, URRRIENRSHEF
result = result == 0 ? o.getChinese() - this.getChinese() : result;

/1 WNFHEN PSR —HE , BURIREUE SR

result = result == 0 ? o.getMath() - this.getMath() : result;



/1 RBD—, BRIRGTE— , iRRUZHEF
result = result == 0 ? o.getName().compareTo(this.getName()) : result;
return result;

public class TreeSetDemo {
public static void main(String[] args) {

/ /8 TreeSetEEENIR, BELREEHIFHITHIE
TreeSet<Student> ts = new TreeSet<Student>();
/1 BEEFAENIR
Student s1 = new Student("jack", 98, 100, 95);
Student s2 = new Student("rose", 95, 95, 95);
Student s3 = new Student("sam", 100, 93, 98);
/ BEENRIRINEIES
ts.add(sl1);
ts.add(s2);
ts.add(s3);

/ 1EREE
for (Student s : ts) {
System.out.println(s.getName() + "," + s.getChinese() + "," + s.getMath() + ","
+ s.getEnglish() + "," + s.getSum());

}
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public class HashSetDemo {
public static void main(String[] args) {
/1B ERIR
HashSet<String> set = new HashSet<String>();

/ /NIt
set.add("hello");
set.add("world");

set.add("java");
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/I FBEEETENES

set.add("world");

/ /1B

for(String s :

set) {

System.out.println(s);

}
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public class Student {
private String name;
private int age;

public Student() {
}

public Student(String name, int age) {
this.name = name;
this.age = age;

public String getName() {
return name;

public void setName(String name) {
this.name = name;

public int getAge() {
return age;

public void setAge(int age) {
this.age = age;
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@Override
public boolean equals(Object o) {
if (this == o) return true;
if (o == null || getClass() != o.getClass()) return false;

Student student = (Student) o;

if (age != student.age) return false;
return name != null ? name.equals(student.name) : student.name == null;

}

@Override

public int hashCode() {
int result = name != null ? name.hashCode() : ©;
result = 31 * result + age;
return result;

}

}
IS

public class HashSetDemo@2 {
public static void main(String[] args) {
//BliEHashsetEREXISR
HashSet<Student> hs = new HashSet<Student>();

/ 1 BIEEFENISR

Student s1 = new Student("#ASE", 30);
Student s2 = new Student("sKEE", 35);
Student s3 = new Student("FEHEE", 33);

Student s4 = new Student("FEHIE", 33);

[ 1BZERINRES
hs.add(s1);
hs.add(s2);
hs.add(s3);
hs.add(s4);

/ 1 EREEE (E5&for)
for (Student s : hs) {
System.out.println(s.getName() + "," + s.getAge());

° [V ==
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